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LOGIC AND PHILOSOPHY
Full Marks : 100 .
‘Pass Marks : 30
Time : Three hours )
The figures in the margiri indicate full marks
for the questions. ’
Q. No. 1 carries 1 mark each | - | 1x12="12
Q. No. 2 - 13 carries 2 marks each - 2x12 = 24
'Q. No. 14-23 carries 4 marks each .. : | ' 4X1d, = 40

Q. No. 24 - 27 carries 6 marks each 6%4 = 24 |

Total = 100
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What is the main subject matter of Logic ? . o

ﬁﬁwaﬁmﬁwm.

Is the conclusion of Unscientific Induction certain ? 1

- SR - Fiie s Tore = & 2

Is there ‘inductive leap’ in Perfect Iriduéﬁon N 1
o ST NS Ty SN 2
The Paradox of Induction is connected with the Pnnc1p1e of the

Umform1ty of Nature. Is it true ? . 1
wmwﬂ%wmm@ﬁ%@&ﬂﬂﬁfﬁ%ﬁﬂ&"ﬁ%ﬁwmm9

Which is the first stage of hypotheSIS suggested by Mill’s
definition of hypothesis ? 1

e o e SR eresw 2w S0t [ 2
What is the meaning of “vera causa’ ? - 1
AT R &Y 2 . |

What is the exact object of moral judgement ? I
e RorT s R 3 2 |

Name the theory 'which states that the external world can be
directly known. ' 1

‘WWWWW@W‘W.WT%?

Is the conclusion of Method of Agreement certain ? - 1
o AT P Jfve & ¢
Ethics is a positive science. Is it true ? ' 1

ﬁﬁmﬁmﬁ%ﬁ@ma@meﬁc# ?
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(k) From which Sanskrit root the word ‘Dharme" is derived? 1

‘ - f *mﬁ & kg argw = B TR ?
FOR Whlch prmc1p1e of ehmmatlon forms the ba51s of Method of
Agreement ? -1
«Wmﬁmmwemmﬁaﬁﬂfﬁ@ |
2. | 'State twa pomts of dlfferences between deductlon and mductlon
: : 2
ot oI S TS W gﬁrvn@ S w11
3. Why the Iaw of causation is ca]led the formal ground of induction ?
2
PR ﬁﬁ?ﬁ o wneree Wﬁ@ ﬁsﬁ @ @ ?
4. Defme Scientific Inductlon o -2
._Wmmﬂmw\@tﬁml | . |
| 5. State any two qualitative marks of causahon o 2
FIR ﬁmmﬁreqﬁ@w@mmn | ‘
~ Or/ AR
Define conjunction of causes with an example. 2
ol @wr@wmq UEEEE] 7\‘\@1 fott
6. How many types of verification are there in a hypothesm and what
~ are these? 2
- oER zmﬁﬁ?ﬁct @ﬁ R OT T 2.
| | Or / %t
What do you mean by analogical hypothesis ? o 2
W ) {ﬁm @t e ‘
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Write two criticisms of Naive Realism. ' h 2

Give a definition of Idealism in your own words. | 2

WWWW@@W@WW

Dlstlngulsh between fallacy of non—observatlon and fallacy of mal-
observation. A 2

| WWWW mwwvﬂaﬁﬂﬁcﬁwu

Write two advantages of observatlon as the material ground of
Induction. - . S 1+1=2

wieeR IEerS TR Rt Rfrem 7o R B
Why the Idealism of Leibnitz is called Pluralistic Idealism? .-~ 2

Deﬁne negative condition w1th the help of a suitable example
1+1=2

@Ww«mawma@m@@m«w@ faam

Write the name of one primary and one secondary quality of an
object. . 1+1=2

A «ﬂﬁ‘rww «qBY cﬂ‘T‘f o 1T Rl

State the qualitative ‘marks of a cause. 4
B! PAY WIS FTH (T Brard =41 |

Or / Azt
What do you mean by plurahty of causes ? Why plurahty of causes
is not scientifically acceptable ? 2+2=4

IR I AP T & gont 2 ITPRRM Ry Reetorrs 7= ¢
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16.

17.
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Do you support Naive Reaﬁsm ? Give reasons in support of your
view. 1+3=4

: WWW@W? cmmweﬁ—q%WWi

What is ‘Crucial Instance’ ?'Explam. o : ' 4
ﬁcﬂw 7o & 2 gt FA |

State two advantages and two dlsadvantages of the Method of

difference. 2+2=4

af—m?t acn?‘ﬁa mqﬁmw zﬁrwﬁm@mawn

. , ‘ - Or/  HF . )

Write two advantages and two disadvantages of the Method of -

Agreement. . 2+2=4
g mamzwqamm@wamaam |

Briefly express any four characteristics of Scientific Reahsm 4

19.

WW WWWWWWI -

Name the philosopher who made the statement ‘Esse Est Pereipi’.

. Explain the meaning of the statement.. . 1+3=4

‘derwre I [ —ai-@%‘mam—@ﬁs@m‘ﬁﬁwamml
%‘f%»fmwfww«

Or/ﬂ/??f

Do you-think that Hegel’s idealism tries to reconcile 1deahsm and

realism ? Explain. 4
| '@WWWWWW?T@W csmasfiza{f?f
oft omi ¢ g@E B

Explain briefly the Dharma and Artha aS_ Purusarthas. 2+2=4
'mﬂlmﬂﬁ‘ﬂ'@@ﬁfsﬂ\%ﬁmwl. '
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24.
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State four 1mportant aspects with which Ethics deals. . 4

 TiIrES SIS @R 51 sl REER SIS 9

Write a note on Plato’s Idealism. . ‘ : - 4

- CEBI SRS 8eig «fS Bt | |
Write briefly the nature of religion. I S
9 T TE SRS B | |

‘Brieﬂy explain the four stages of hypothesis. A 4.
.eﬁﬁﬁ'wﬁﬁ#eﬁﬁrmaimaﬁiﬁml ' '

State any three similarities and any three dlssnmlantles between

Unscientific Induction and Analogy. - 3+3=6

wﬁwﬁawmmmmwmmw ﬁzwf%ﬁwm
WWWWW| .

Or/‘?/??f

) Defme Unscientific Inductlon and state its main characteristics.

1+5=6
Wrﬁas"mmmmﬁm‘wm &1 (P IR Sremdd =4t
Define the Joint Method of Agreement and Difference with concrete

example. State two advantages and two disadvantages of this
method. 2+2+42=6

-m@r«m@mﬁwwmaﬁaﬂwﬁmm&aﬁa 7or

aﬁmw 75! sERat S =0 |
Or / a2t

Explain the Method of Residues with examples. N 6
TARITE ARCIT AACTIH W Y| |
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26.

27.

Explain Aristotle’s view on causation. - o 6

FR T ARES ST Rl T
Or / Iz
Explam the Law of Causatlon as one of the formal grounds of

Induc’aon ' : | ‘ o 6

wmmwmﬁ@%ﬁsﬁm@wwwﬁﬁ TR A

“Religion and Morahty are mutually dependable_ — Discuss it.
6

_“dwfﬂﬁswﬁtﬁ?ﬁa le '

Or/ﬂ/?z??‘

What do you mean by Religion ? Which is the most acceptable
definition of Rehgxon ? Explain two characteristics of Religion.
2+2+2=6
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